-
6-1=

10A

a 0-2=
10-5= 10-7= 10-4=

10-8= | 2
10-0= | 5
9-6= | 1

4

101
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M2, str. 50-51 f‘,i M2, str. 52—53

Do

N —
N

_J
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Rozloz.

12 13

18 17

ANAAA AN A A A A

10 10 10 _

14 15 16
VANVANEVAN
10 10 _ 10 __
17 18 19
VANVANVAN
10 10 _ 10 _
20 13 14
VANERVANERWAN
10 10 _10
17

/\ ﬁ\ A\
10 10 10
18 19 20
VANVANVAN
10 10 10

13 16 15
3 10 10
16 12 19
VANVANVAN
6 10 9
15 11 14
VANV ANAN
5 10 4
14 17 18
VANVANVAN
10 7 10 __
20 19 13
VANVANEVA
10 10 10
12 1 17
VANVANRVAN
2 1 10

19 15 20
A AN A
10 20 18
ANVANVA
14 11 16
ANEVANEIVAN
19 12 13
A AN
11 17 18
VANVANVAN

Sectl.

10+0=_  10+2=
10+1=m 6+10=
10 + 2=mm 4+10=WW
10+3=_ 10+9=
10+4=_  8+10=_
10+6=_  10+10=_
10+6=m 10+3=”
10+7=_ 10+5=
10+8=__ ~ 10+6=_
10+9=  7+10=
10+10= 10+ 8=
3+10= - 10+ 0=Wm*
4+10=  3+10=
5+#10=  2+#10=
6+10=_  1+10=_
r+10=__  10+1=




